
Frcr-c*r-c-e" Frc blerns
Exq-rn A

o
tzLD'

Rrrrns

A

Vo<,

r fl-F
tzo 1a 0x ;5rr

\A
fL Ju=

-Iba-

,d vrms

U^ -- (r"r-o) ( -1! \ = &) L'sootlrry;5' r;5-1b )

4 Kvu : IzoLD - foo + 0* =. Q
AA
Vor= lzoLo +Vx

= olDLoo Vrms

- Vrrns *

ibs

to + tj5 l\ib)= 3l . (r-aL+t56os2-

2Y6rtl : 3l ,ba L-?l.56u-s)-

tOsL

qDLf,

'2111 -

zL=
qpL?
eru*4v

o

= +.5 Lo Ar{ns

?,= err)' R4- LzJ
- f4,5)z( lD)

€ ZnrV

Vrrns



tOsL

SLau
Vrrns

ja*
fr
L f-a

-,o i, 1E(i, -+) t

s Lo -roi,-;5 f, -Ai, #.la:ra - o

+, (-rors) *ir !-t*it) = su3o"

f, ( tLlsol +!tr> -- alsou
A--r = D.'f9 L-tta->d ftm'"'S, 

i 
\/i I I l- I rv--v

$r= a,Sb Lqq,+D" furrns
\rn3: -Vo., -^ttb t;) -le ( t -f )

ltAn
Voc= ala +JETa

= l3."tq Llua'bd Vr-rns

P3*

\h. sLQo"

A
.A-[ -r = L)6

n
53: o

AA'T- -t-Jar -l- tCI

JaF

5LO
n

-Vx
A

a.ad /

E Lqoo

rart, Ta

|\

Vx -o



Pg3

:JACL

A

Vrr

\Tr

zrH: ( rcr") l\ (a+1s)

: 4.,_++ Lqa,gSoJL

1s-- ft$ = L+'Ll+b+a'65o-c)-

= t3,?q I lba,bo
F,*+ f+a.K5 + +,'{+l't4a,<5

a

= e,la U ba,bD 0rnrs

Pr:(a,rrf RnLar]
a- l+, l"A [,r..) r+hs



P8+
&) zt t P#;Q= 48+ i a+ {<vA

> 55.O? Laq.36o*,vA

55.D? Laq ,z'i {(vs = (=oLD) f'"
+, = 4sg, gT L-aq,'bb- firrns

^ :6 zot_o) Cifl7e, 6a= .3a /-bs 1qVA
\

:ra -- au',bq L^ b5" ftrrr*s

Ze L LE3= 0.os-l( ' +) - b6+ao

i== 3.D L- toto.+)o flcrns

NAA^
-T-s -- T, + ir* i=' Ttt.5q k+a,q'+"A,.rns

L2) 71= \4e = o, at,2 I Laq ,g.oos)-
Jg

7o= t?.oLc- o,+5 Ltoso*O-r^ E
Lz., = lAoLo- b Ltotn +aoJ)-V El

e) 3"' 0a D LD)C+$ ) = 1s,aQl.+a,ga"{<vA

Ps= Rq- L3; = ba"+z€u)

06 = J]nn L3J= sg,AD 4rV4R



c0nI
@ Ps= be'+8 €Lo

N

61 q=o\d= ?tl .ql-*aflf Rrrrns

bA, 4tx,o= = lao (rs^*Yo,qs)
l[s.,eL6 -- 548.OT Acrns

L74P= Css-'('q5)- 18,lol 
o

T̂sne") -- 5+8,oT blt tgo

+ t.*d- f.sld, = al3"q+ L9c" ftrms-La- rSneLD - r5Old =

zc= \2+P = o'38a bqd*'r-
)-c-

t

(r)c-

lz
o.38e r-e) = 37+ rad lS

b,q4 rn F-

pge

e)

+) to rni n inr \ze eo.r-rca- a-tr-rcen t
n^aj: T"ff = l

bA,,+8X tD:=. lao Lltrsrr.e-*-: ) Ct)

TsneLi>z 5eo, b+ ftrrrrs



..a, t-cnb
tD o-,s.srnne- bc+h ar€- ) ^*nnec*rd

P5h

ArYo
A

VL"

A

Va-n =

'nc>Yl"

vu Lc* = [3g.s b L; Vrrns
{B

.3O X tOb = {a Vu tu,
l;ul = 4e, t+ ftrrnS

= +e, t? L-uS ftrrns

I _J-t-r"yl-
=

cos'(.s)
&o'

\r

Z1a : lB Laoo"hvA

rg y ro3 = {E V"Jua Lzla = 5.oo
7E
Jit* = +3,3O Ar-nrrs

Aoivr: 43'3c) L-ao Arrns

+a-A: iyl -+-\-- lo8r.95 b+s.aoo ftrrns

L

Zv l= Vg = t.q g Lt"o"-Q-
frT L,

1l
Ao

Z1 e: W^ - 3. Jr]fadsr- Zna =@\a)3
.GTy a q,b ,jr o-fL



C,cnt

@
a-)

ru+

LVn-c

T\

Vab

A onrur€ c*LA
n
JA2

Vp = ttob \ = {E tf,o^ \= ao?,8s Vrrns
2

Zb\,"o 39 Xto'= ,[ 3 Vulul

Tur = 108,33 ftrrns
fpt = Lr ; bA'55 Arms

{-a

LZSt= tOs'(.?)- 45,.5?o

to, = t?A,55 L- t5,5? c 
ftrrn-s

,\

ZAr= 'fu a,3aL+e,;7oa
-AJAI

7Ae: 15Yt ,J3 = ,lZ VL:rua

lfLa = +1" b4 f,rrms
TaA-_ Tr) = a4,D5 ftr-rns

A \i$ o
Tna = A+,O5 /t3o *rrns

+

5



lpnt ?gB
@\o

Zss = W: g,b+ LO-JL
_tr6p

N/\\

Ig,6: fAr + $oa = Vi'l? l: 3,3bo ftrms

Ip = tf*1= 8[,?a €rrns'

ANf\O

Ta_A = Tg-g fap = l+O .bgbgZ,3b Arrns

b) 0sswrne Y-loaAs
{rc.,. pestat t'r,= iOf,33 l:+g,57"Arnxs

fV r = +l,b? Lo' ftrrns
,\\ttO
:rrn = \1 *trn = i+D,bBL-22,36u Arms

t Ip =:rr' Vb = I0; \= tzc Vrrns
(

Zyr= Vfr^ = I"ItL+5,5+'-C)-
fv,

Zvr,*4


